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PREFACE

Nothing thrills a writer more than the success of
his book. With this book, | hope to reach a much
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others, who relentlessly compete for various

Government jobs.

| am thankful to Almighty and my family (My
parents, brother, wife, daughters and son),
who extended their help in various invisible
ways. | also express my thanks to the Mathematics

Expert Team.
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doubts etc. concerned with this book at the

following.
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—r&"‘mfna:h-ng Non -'iz?mfv\a:h'ng - _N_’:_%E. De———— Y d.t'gH:s after decimal.
(o]
(&ia) (ziiq #EHEa) | 7
e O =,
Te?m?na:h'ng decimal 2 0.7 =1 — _lTa 1 o digtt ofter decimal
e lo 1 N
=y U e e
> B L 2 Y digits after decimal
o lo
N
965> 13¢5 219651 Thmxe S linE

000 |1o®

T f wia FEETA ER at Denorminaor 0 =k s & Srast Power %wsffnﬁ—
ﬁ‘% oft) zoz S & ¥ arar 3l & igits deeimal & a1

S sl = >
- ~ ’?'— xs'\" ” 3
|0 = 22X S (lo,g Or\l:’ f)os.s.l;lch
product of 2x ) Do = Y d.xgﬂs after decimal -
—+H ™ x b™ = (ax)” SN —= 0
(ax® D
To make terminating decimal | K
Denominator mugt _i;_ th |°“‘P°":|J Cah':}' be 'J"O‘Mlna{’fhd dgd‘mal becoz 4
Ay XY 25 e cah'i-Form |0n n c{e,m)m,,‘na-(-gr il oM
SO xse i o missing —the Pofr o-f ,’)wd,ud-o{-‘ 2X5
Ll T XSRSl =21 5 =y
T R e (2)(533- \ooo H Non —‘Eermmai'h:\g decimal 1
2 0.875 bHns. \L ’ i
s -%'—-_—: NXS”‘___ NXQ-E__L Non —termrna{\'ng N e T
2 X§* C)_xs‘) Rﬁpmﬁr\g 3 mlﬁrg &
. : (3 3T < ST
— .:'_'.z—:—s:g (3 =5 _é:\.\-‘ﬂ dl&ﬂ& Q.‘F'Q,‘ dC'ClmaL.) \L m ) (m mfw)g.
SRR D2 N xd 1] 25T S eIy b -
53 ix2l (5xD C. §9¢
.87¢6 2 5.87686%+6 - _.
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0.89 - 0.898989 -. -. Qlek === 0 kel = g ven
0.2378 — 0.237878 - - 09-1 4l T 51eg
200 gy S —
—5E LA =, SEEE - ol 990
= ] 0.85
-)5,25' C.+ g i gq_w___sq-u‘—e
b chows nego:h“vz, 949 0
IR A “
— How %0 foom frackion of NTRO A 101 = 3 digitemallest
= gaa P'a’\fhe_ no
Wiz 23 DinRAi socl o | mES O A T
muu'l'f'-n 19 on both Aides By | ,
\ e 0.2t = T3 2 gt 2" 204e
O 771~~~ Xio ~ Y =
=0x="1.177 ~—--- 0.abc nﬁ‘; q’a_’ o' YHeqg
=\laax="1+ O0.717717 5 L abed P8 5w S
=0 = 7 +=>= Do.cd—qqon 24— e Py
—9x =7 0.8 = — s
b 2 P2 53 = |25
> [2=L ] Ane. |o.567-367 26— 6\ sY = 625
01——-‘1—_2—;- 1; - |28 5-5- - 3126
a9 Q_‘—) 25¢ ¢ = [SEas
O_bc ab b (1_ al:cd-o.bc 29— 5l
TYPE — 01 29
(|||)3§ NOT

Level — 1

1. Without actually performing the division, state
whether the following numbers will have terminating

(iv)

1S s oYMl hatin
25 151600 — Term %5»

decimal expansion or a non-terminating repeating

13 b 1
decimal expansion./ar=d ¥ faarsE feu faame samg V) 3125 TQ'YTY\IM\WRG
f& = f=fafea g=msn & 99 IHag 99

B A1 SEIG ATAd] SIHAS FER B

LTt
(i) 8 '

W’:ﬁ'Fmdlbn%Tdenominafor
P or 5 7 B A S
Te:'rmfna:f-'rg,.

(i) 455 NOT

Can be w'ﬂ‘”!h in 2 2.

dofrm A0 ..!." LA fe'm"lm'll("d

(vi) 23—22 Tmh'rmkfn&

Without doing actual division find out how many digit
are after decimal./arfas fauree feu famr gar Mg
& <ImeE & 9” fra o 2

g2 3 > AD— 31“6&'{"5

RE—E)
1383 _
O TG — e 3%’&6--
7t

?
80 80»ofxs —4 A@i'fé “{H’e)' decimal

(i)
(ii)
(iii)
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2. Find the last 3 digit of the number 123456.....upto 28 dig-
its, /ST 123456.......28 3k T o SEL 3 3k 1 &2
(a) 171 digits (b) 161 digits
(c) 181 digits (d) 151 digits

BBy OF (S = e ol s et U e s
2 8 digits
L5 STl INEXSID e Sig d,%?-is
86— = =
19

—5-= 9 Ne-+ | digit
QA Ne. + 9 No. + | diget =18 No. + | digit
Sl L B powratie s o B CEC Wl o
R
Last 2 digits ave 18] Ani.

3.  Findthe last4 digit of the number 123456.....upto 125 digits./
e 123456....(125 3iF Th) & MMad 4 3iF 1 &2
(a) 7776 digits (b) 7876 digits
(c) 6667 digits (d) 6776 digits

l2 234§ 6 —— - - 125 digits.
125 D (Totad)
| — g=9Ne.XxID— _q digits

_u‘;-f_: 548 No.
G No.+58No.—= 6 F No.,
(Lﬂ5+ no. O‘F’t’n‘s Series wou.ld_ b&@?’-)

(A2 56 et 6‘165:6‘?]

Last b digiks = 666F Aru.

Level — 2

4. Find the last 3 digit of the number 123456.....upto 176 dig-
its./G@T 123456.....(176 3i%h dh), & SMET 3 37k T 22
(a) 722 digits (b) 992 digits
(c) 939 digits (d) 929 digits

12248§--—— - -. 13¢ dugtls
1#€ digh
| — 4 — 9 Ne. —> -9 digits
jo — 283 No.X2D— |63 dimks

g2 No.
\_’/6? — 82 No.+ 1 D
P

= 9N + 83N + 1D =99 N +Hip
IR ZTIURSER- = — = - 9091992.9.

Last 2 d.:‘aﬂ:s =A"“-

5. Find the last 5 digit of the number 123456.....upto 209 dig-

7

its,/S&T 123456......(209 31 TF). B SMEY 5 37F 1 &2

(a) 10105 digits (b) 10005 digits
(c) 10510 digits (d) 10501 digits

2 09 (total)
I'=—99 > 99 Ne. — -|829 d.agt
e ENX2ID — —F——— .
oo ) oA SEe 20 digtts
%:em.i—ab
=Q4N+ 6N +2D=105 N + 2D
BT ioS5 |0
S\ 23 4 § ‘0\1\___‘_]

Last 5 digits ={|05 | 0] Ans

Find the last 5 digit of the number 123456.....upto 386
digits./EAT 123456......(386 3% %) & G 5 3
0 22
(a) 16106 digits (b) 16416 digits
(c) 16116 digits (d) 16616 digits
et 326 (tota))
\ — q; N —= 189 4
__)
foi 65 NYX3d TE
| é4 "'K_/m 65 N +2d
=99 +6S N +2d =|1¢Y N+ 2d
> 123485 ~~ ~— \€3|GHIC
“Lask 5 digis = | 16416) Ans.
Find the last 5 digit of the number 1234.....upto 176 digits.
&1 1234......(176 31 dh) & MEH 5 iF T &2
(a) 99219 digits (b) 92991 digits
(c) 91929 digits (d) 99921 digits
IARE LIS e agiEsm ] 1 G
136 \
Q-9 —> 9nN— Sd%y(*
Clo— ) — 83Nxap = [6F
15_’& = 8aN—+1D
FIN+BN+ D =gsg N+ 1D

=)l aniyis IS S 0091929

Aogk g,u‘a;’i- = 91929 d__;_,v
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(b) 84696 digits |

TYPE — 03

e e

(No. of aigi)

(a) 86469 digits i g ;. 5 |
() 68494 digits (d) 86496 digits L Ui |
1§ 4o (Totud 0> = leo. = 3 digh [ o &t Breckt |
| —9—q9 N0, "7 -189 digits \6" = 1000 = 4 digie  fower T 1
0 — 50 (3 el = G 1042|000 — 5 digs | GTET Diglt. |
' v J OIS - (n+0 digits |
-JG—BS“—: ssonN+ 1d 1. Findth?&al numberofdigit./a:iaﬁaﬁ@a@@l’aﬁaﬁml
=99 +550 N+1d=64a N+ 1d 210 x 510
R s 136 119IC (a) 9 (b) 10 (c) 11 (d) 12
Last § digit —{8649¢) fins. ATy

9. Find the last 5 digit of the number 1234.....upto 1853
digits./TEAT 1234........(1853 3 TF) & AFEd 5 5H
11 2?2
(a) 65653 digits
(c) 65365 digits

(b) 63653 digits

(d) 66653 digits 2.
1852 (total)

\— q9=adgeNe.s =2 139 dfﬁf_-jf

00 =1\lo: ;3 a0 Blig ry

AN -

_l%‘izssq BT 08d

GRS ES YLD JheC 5B NI IC

L L. (B ane BRResE
i E GRS SISO E

Last § diglt = Q'“’ 3.

10. Find the last 5 digit of the number 1234.....upto 178 digits.
T 1234......(178 3% TF) B MG 5 3F 3 272

(b) 92939 digits

(d) 92393 digits

118 o tal)
-9 digis
No.Xx 2d. — )¢9

(a) 99399 digits
(c) 93929 digits

== Sl= &f Nkx
e =

169 =84 N+1d
2 _qun4 8y N+id

RS 091l §2- 139,
Phs—r 92939
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=a" xbe"=(axb)
=(2x5)" = 10" — Power+ |
= lo+| =11 digits fns.
Find the total number of digit./aFhi T S TeA I Hifoa|

8232 X 25348

(a) 679 (d) 969

(b) 697 (c) 976

232 248

3 DS

_.('1,3)')_’3'1 X (59_)3‘13

= G s G

— (Q_XS.)G‘IC Ll (\O)C‘IC

= 69¢+) = €97F igis Pns
Find the total number of digit./3fRi ! %el T&l T i)

411111 X 522222

(c) 22223  (d) 23222

(a) 23232 (b) 22322

L1”“I v 5.'2,‘17-1-‘).

=('2_’L Wiy A il

9992202 292 %22

—

X S

2232
=(2x )" = (10
S0 010 RHIERS 9.9 0 R 8ine.
Find the total number of digit./3%Ri sl el el I i)
16132 X 125176
(a) 527

2292

(b) 529 (c) 528 (d) 530



2 €
\G‘ 1X |15”

116 528

528

\ ho‘i‘o-koq 0409

S7L a0 s

=(29"™ x (59

528 528 A
=(2x5) = (10) =528 +1=529 5

2
#l+t2tl=4 =12

4243424 =q =3
L+2+3 44 $3424) = 1€ = 42

TH MBR B Ques X G sum ZEI
2 Middle term BT Square T |

A R 4

q x lo X102 G X [0 Ans.
How many 4 digit number can be formed?/4 37\ ferat
T&IT S S Gl 22

(a) 9 x10? (b) 9 x 10?
(c) 9x103 (d) 9 x 10*
=g XloX|oX|0o=9 X [0~ Ans.
(o¥]
4 2
9 X10 > 9xlo

5.  Find the total number of digit./si} =it et T T HifT
1+243+........ +100+99+98........ 1

H= di‘gti—% %ﬂ% Ne. possrbu 2,

L a x 0"

(a) 5 (b) & (c) 8 (d) 10
» Middle 4exm = |00 4.
So (‘00}2 = (10*)*
= 10" =Y+
TYPE — 04
Level — 1
1. How many 2 digit number can be formed?/> & I s

forat G@AT S S Gl 22 i
(a) 80 (b) 90 (c) 60 (d) 70

— 10 diglk are Pos_srblc at once
@ place do form

q ¢¢aas are. 2 d‘:?'& m‘ (I‘.L.)

passbletatlEnst /60 2 g o0 ¢ g
Phu*v.&m (}l' /1'71 I)

2 digtk No.

(l'-b) D: z,z,H,S‘,G.'I,E,‘ﬂ < >

R

9x o =90 No's can be formed
2 How many 3 digit number can be formed?/3 a7y CRil
TE&AT a1 S gt ©7

(a) 3 x10?
(c) 3x103

(b) 6 x 10?
(d) 9 x 10?

RAKESH

How many 5 digit number can be formed?/5 37! famt

TN o4 S Gl &2 =
(a) 9x10* (b) 9 x 102
(c) 9x10° (d) 9 x10*

- x 101\-)

=3 x |10° '

29 %X 10 Ana.
How many 6 digit number can be formed?/g a7} faat
GEAT S S Tl 87

(a) 9 x 10*
(c) 9x103

=4 x 1"}

Gt o

(b) 9 x 10°
(d) 9x 10*

i -
29 X (0° Ans.

How many 100 digit number can be formed?/100 37l
foha HEATT oS S Thet 22

(a) 9 x10% (b) 9 x 10
(c) 9 x 10" (d) 9 x 102

= qx 10"
= ax 107

= qxloﬂ"

Pns.
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Level — 2

7. How many 2 digit number can be formed, if repeatation
isnot allowed ?/2 3fi &t fohe HE&AT S S Hehell
® AR TRER F1 AR 7 w2
(a) 72 (b) 81 (c) 90 (d) 99

3
) q wiays Possfbl; at onca-
q wie '12_ ’2 place bU’?— mpmfah'gn I not
s | | s |5 we use any dogit-from
7| | 5[ Q 302 then we cantt tse
g f‘ t at once place .

=9 X9=¢8} Ans.

8. How many 3 digit number can be formed, if repeatation

is not allowed ?/3 37! i fehal T&ATT SE ST Hehell
? afs TRgfa =t ogafa T &2

(a) 640 (b) 644 (c) 648

e
3 1 4
= ways x q wO-ysxg waﬁs

S 81X &8=6Y 2Ans.

Level — 3

(d) 652

9. How many 4 digit number can be formed, if repeatation

is not allowed?/4 3! =1 fha-l TEATT T8 ST Hehell

¢ af gRafa #1 s 7 =12
(a) 4536 (b) 4537  (c) 4538  (d) 4539
| N
qrxﬁxex F
3 qxqax8xF > {536 hAns..

10. We have to form a 4 digit no. With the help of 0,3,5,7,8?

0,3,5,7,8 F 5% W, Fherl TR 71 1 HEA T
ST Gehdl &2

1. Repeatation allowed/JREfd 1 STFAR @l

2. Repeatation not allowed/IR( &1 STFA 7 &

(a) 600, 96 (b) 600, 100
(c) 500, 100 (d) 500, 96
(4]
3 5 option
3 pti
B
8
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@ el I L]

Yy x & x 5x5 =500 fins.

@) {=er ] I l
x x3x2 =96 Ans.

#cvw/mé.—)ﬁwyﬁaﬁa‘ﬁ'z& T e+
[ odd [ B . o F 2 & o1 T &L

11. How many 2 digit even number can be formed ?

2 3] 1 fhal GH ST 9E S Gl 2

(a) 43 (b) 44 (c) 45 (d) 46
,
Ways (ways |
\ Ofs
z ':’1— o form even no.
=) G > 9 x5 =Y§ Ans.
S
¢ g
-
8
q
12. How many 3 digit odd number can be formed?/3 3ii
ot faem ST SFE ST Hehdt 27
(a) 400 (b) 450 (c) 500 (d) 550
rlr y lj
9 x\0 X 5 =450 Angs.
|
2 |To fovmodd no.
q-
9
13. How many 5 digit even number can be formed?

5 3Tt H Fhal T GET S S Gehdl €2

(a) 40000 (b) 450000
(c) 45000 (d) 400000

29 X 10 x10 X 10 X§=45000 fns.
2 (O/ 1,4, 6, 8)—'9 gwaﬁs FOSS1’ble.tt°—fbrm-

even nNo.

14. How many 4 digit number can be formed that are
divisibly by 5?

4 ST FRTR HEA 5§ A @ e $2
(a) 1800 (b) 1700
(c) 1500 (d) 1600



-éB3 ophon(¢) =328 8.
Tx—1 = 328
. = 329
= x a6 2t
Ag— 398 Y43 53 39
Level — 2

5. Every prime number of the form 3k + 1 can be repre-
sented in the form 6m + 1 (where, k and m are inte-

gers), wheny/¥e 19T §& S 3k+1 &% 9 | ¥,

F 6m+1 ® ®Y T A TR ¢ (ST, k AR m
quiish HEA ?) w4 5
(a) kis odd/k T fowm e B ]
(b) kis even/k TH HH T&AI 2

(c) k can be both odd and even/k T 3T fawm i 8l

Tl 2
(d) No such form is possible/k TET &z &Y H¥d Tl 2

D, Prime = 3k 4+ =3 x2 +|

Prime. =6 m +1= 6xl +1
option —(b) Ang,
6. IfN,N+1, N +3 are prime number find the value of N/afg
N, N+ 1, N +3 37959 H& & @ N &1 7F 36 shifse)
(a) 2 (b) 1 (c) 3 (d)4

N, N+) , N+t3

\_,/ \—-/
D=l D=2

22 L3 amhonb +wo pn‘nm no.
which hawe diff —)
3N=2 Pns.

7. IfN, N+2, N +6 are prime number find the value of N/
N,N+2,N+6 31959 G&1 & @ N &1 | 6 I

(a) 41 (b) 42 (c) 43 (d)44
3N, N+2  , N+
N

By option (a) = Y
N, N+2, N+ 6
Uy, Y43, Y = Sahsty . conclihion
Pns. = Y|
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10.

If the numbers g, g + 2 and q + 6 are all prime, then what
can be value of 3q +9 ?/3fg §&A1 g, q +2 3R q+6 G4t
S TS, @ 3q+9 1 T F1 & Gehal 87

(a) Only 18 (b) Only 42
(c) Only 24 (d) Both (b) and (c)
39", 92, "4+6
Sat daarly) Liaey LA
1, 13, 1l =
S0, 3Q/ +¢3
sxa+9 =24
Nx2+9=4Y2 Ang.

OFln‘on (d) = Both b ond c
N2 = 33, N2 - 31, N 29 are prime number then find
the possible values of N, when N is integer:/af§ N*>—
33, N2—31, N*—29 31954 G& € ol N 31 St | 71
%, STl N T i 2
(a) +6
(c) Bothbandc

(b) -6
(d) N.OT

N*—29
D=2

2 %33, N=3),

D=2
LNn‘sl'n‘kgu)
PiNol »"43ix (55, °F
Sa N2 -233 =3
N*= 3¢
N= £6 fns.

Level — 3

x, y and z are distinct prime numbers where x <y <z, If
X +y +z = 70, then what is the value of z ?\x,y q 2z
Y- 3T ST AT B, STel x<y<z®| I x +y+
2=70 , @ z &1 HA F1 T ?

(a) 29 (b) 31 (c) 37

1

(d)43

¢T+3fz= 30

n+ytz =F0 [E+0+0 =E)

L9 sthe 0"\13 even Pr.'m(_ no. 83 eLfM\.nai'l‘dhg OPh‘OnS
option ()= (2%

x+tyt=z =70
q,*—g-\-:_ = 7109
21 3-.;3I(H is %00 & PYiMme no.)

So, Z = 3% option(©)Satisfy our condihon
Ans. = 3%



11. : 2 ? max
How many composite numbers are there from 53 to 97 i
53 W 97 T fhadl GI HEAT §? a-%-z 38
(a) 35 (b) 36 (c) 37 (d)38 ac’ &+ 9 =738
bj ophon (C)—" 3] By
> 52 309% — |0 Prime No. Tyt 2= 38
\ S5
53 ©093=91-653 +)= Y45 No. s N+ y+2=38
N A = L) da )Y .
No's — Prime no's =Composdt No's Now, all3 are Prime no
45 -10=35 fins, 8o, x =31 Pns.
12. LS. Let, p, g, r and s be positive natural numbers having
LGRS f0| Wl_né e%\_ﬂpréssmn é/%ls / are true?/ three exact factors including 1 and the number itself, |
q > p and both are two-digit numbers, and r > s and
|. 337isaprime number./337 T A T %l both are one-digit numbers, then the value of the ex-
Il. The number 12 has 6 positive 1’actors/E|§l| 12% 6 : -1 /'CI'HT ifer P, q,r 3R s YA
YAHsS UHES 2l pression S is:
ll. 32724 is completely divisible by 9/32724 T’fﬁ: 94 ? g : %' iy it e I z (exact.
I 2 factors) § 1 3R =g F@& ot 21 4% q>p ? 3K <Fi
(a) Only | (b) Only I and I -k FEd B, 91 r>s © SR I TH-3Ey
(c) Only Il and 1l P—-q-
g elch ———— EIERETE ?
(d) All expressions are true g - 52 Gl
@ 331"91'11-35, (u-) 199 factors~ 1,2,3,4,6 12 (@ 1-s (b) s+1 (c) -s-1 (d)s-1
2 x
3, ? € factors. # P2, P, Pt (Factors)
;,\: (@) 32324 18729 Poik NS, 2 P
x - .. b ,q e e 0o — -
13 37324 s dubistble by Lq{ i — S
17x = 25 -Y4q9 —)
. - . q 'ﬁ e ————————
3 333 is o Prime no. ER il a-y
; -25
Ans. @) AU expressions ave true . = il = 25- =-5
o -
13. Which ofthe following numbers is not a prime nu ber?/ P‘hor\ (¢) > —s-1 Ans.
= Hemstt § 9 FH-H T a9 wen @ 16. The sum of a natural number and its square equals the
(a) 197 (b) 313 (c) 439 (d)391 product of the first thrgﬁe_{prlme numbers. The number
e I T T AN, GEeA dF
2 B:j solwnj opbons ;mﬁ; o
el % NG ® TWER §1 98 GE L
im 0.
(d.) 34| s not a P e hn (a) 2 (b) 3 © 5 )6
—
391 Ls dimsible by 1¥, A Dm0
So it is not a prime no. n(h+)) =
14. X, y and z are prime number and x + y + z = 38. What is SEXIG
the maximum value of X? Ang, = =
X,y T z ST9NT FEATT T T x+y+2=38 &1 x F o

Sfushan 7H #4122

(a) 19 (b) 23 (c) 31 (d)29

Letab, a = b, is a 2 digit prime number such that ba is
also a prime number, The sum of al| such number is: \qﬁ

f ab,a = b, 2 ST Al S e 56 R
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? T ba wft 19y TEm ?)1 U 9t GEmed w1 ATEa 4.

=

A i)
(a) 407 (b) 418 (c) 396 (d)374
B\t e s 2 251Gy 3y
17 = 3) ) #1
19 . '3
923 3 T
99 = A i i 17
& +3 —3% 7
79 —a% 13
3F —-32 33 +39
2l ot 29 BRI Ane
o a3 —39
Y+ :
Level —1
If the sum of all the prime numbers is 'x' and that of all the
odd prime numbers is 'y', then what is the value ofx—-y?/ 6.
Ifz geft 9T gEms H AN X ® R wf fauw
9T GETE F1 A 'y ®, @ x—y 1 AE H R?
(@ 2 (b) o (01 (d)o
x 9
['1+3+s-+1 FW--J=[34s+71+01---1
all +he odd one will be
[C.ane\led L 2wl V‘eﬂlafr]
; Ans. =2
Two consecutive natural numbers are always "'/ﬂ'\l
FANE WEHd AN QT oo gt
(a) Even numbers/dH H&ATT
(b) Co-prime numbers/T&- A HEATY
(c) Odd numbers/faTa F&AC
(d) Prime numbers/ 39 HEA
Ans.(B)
In which set of numbers every pair is coprime to each

other /st % fora T § T el TH @
F TEHT © ?
(a) 35,48,55
(c) 42, 55, 69
Ans. (d)

(b) 24, 35, 49
(d) 21, 32, 43

Each prime number has factor/factors

TAF AT G H e TAEs g SR T
(@) 1 (b) 4 (c) O (d)2
2P
/N
J7 1
Prs. = 2

(P’rfma no. has always only 2 'Fador)

A two-digit number, 94, is a prime number. Find A.

2 3F F TF GEA, IA, TF SURT T 21 A FH HA
Fd ifSal

(@) 9
g,)

(b) 7 (c) 3
aQrar— P'rl'mg Nno.
4
@ Ane.,
Consider all prime numbers between 1 and 100./1 I

100 & €= Ft T ATRT gEAR W fTER #

Which of the following statements is (are) correct?/

frafafad § 9 1 @ F24 96 T (F)?

(A) A number that is one greater than a multiple of 5
hasaunitdigit3or6/-qgma>[ 5 $W@@
S ¢, ITHT THE 3AH 3 A 6 €

(B) The sum of all numbers which are one greater than
a multiple of 5 is 215/3:{ Tt gEmst w1 AN S 5
P TN A T 9L T, 215 R

(C) The sum of all numbers which are one greater than

(d)1

a multiple of 5 and also one greater than a multiple

of 6is 92/57 gsft wemstt &1 A W 5 B N J
TH TS 2 3R 6 B PN W @t TH &Lt 7, 92 R

(a) B only (b) AandB (c) AandC (d)BandC
C) X m+)
(@5 () )Lcm=30
® 1 Cx M+
3)
4) S0, 20 m+ )
é\ 2 3
+11 +6)
715 v 12 s

Ans, (d.) b and ¢




The smallest prime number that is a divisor of 17408
is 2 (17408 = 17 x 21°). What is the sum of digits of the
greatest prime number, which is a divisor of 173917

TIE B AR GBS 17408 F HSE € 98 2 ©
(17408 = 17 x 21°) GQ TSt AT T&AT, S 17391
ST ©, ® i &1 A F T ?

(a) 4 (b) 5 (c) 8

=2 1739) (dfvfs?b]e b\l’ i?-)
217 x 1023
1 X 33X 3IY)
\F7EEIRE v B
23 314s a Pr'me no.
sSum of dfg_-‘:l-—"s-\-l
2 Y fne,

Consider the following statements in respect of two
integers p and q (both > 1) which are relatively prime:

YUk p R q (FF > 1) S FF ae@: 9T ©

frfafea sem & g3d o

1. Both p and g may be prime numbers/p 3R q 3
ST HEAT 7 Gl 2

2. Both p and g may be composite numbers/ p 3R q
I AT & B Hehdl 2l

3. One of p and g may be prime and the other com-
posite/p 3R q # ¥ TH AT AR HU 9 &
TRl 21

(a) 1 &2 only (b) 2 & 3 only

(c) 1 & 3only (d) 1,2 & 3 only

= CO——Prfm& /Rela:h‘wc, P'n.me nao.

[HeF - 1]
Ams. (d)

What is the sum of smallest three digit twin prime
number./3 3! F TIY DRI Jeal- AU Sl H
AN T AL

(d)6

(a) 203 (b) 115 (c) 204
(d) None of these
1o} , 193 (Tiyp, prim
n e No.
. f )

Sum = 20y

10.

1kl

Consider the following statements /fT=fafEa semi w

fo=m =ifsuy

I. Every integer is a rational number./g?\‘fﬁ TIUTT’EF TH
R gem 2l

Il. Every rational number is a real number/9dt Uiy
TE Th arfas e 2

Which of the above statements(s) is/are correct/SW fgu

M FHoA H ¥ HHE-9 FF Tl 22

(@) Only 1 (b) Only Il

(c) Both land Il (d) Neither I nor Il

Ans.> (] Poth I and IL

The sum of two irrational numbers. Which one of the

following is correct ? /& STARHA FEAST &1 AN
frafafad § 9 SH-91 T& €
(a) Is always a natural/H<d T UIhfaeh & 2|

(b) May be rational or irrational /9fa 3R 3Tl =@
bl 2l

(¢) Is always a rational number/&<el Tk G HET B
(d) Is always an irrational number/ﬂﬁa Teh SURET T ®

Ans.[8] May be vational o0r irrational

12.

133

Consider the following statements:/fST T HerAl W

fo=m =+ifsu)

I. Thereisa finite number of rational number between
any two rational numbers/fa=i T 9fwa demet
% 9 T Ry gen fafvea 2

Il. There is an infinite number of rational number be-
tween any two rational number/ =l @ ufwa
el % e Uw uRey S Hi ke gen

lIl. There is a finite number of irrational numbers be-
tween any two rational numbers/ﬁﬁﬁgf q uRed
e % W= Uh SRy Sen w5 fifved gen

Which of the above statements is/are correct?

(@) Only I (b) Only 1l (c) Only 1

(d) Both Il and IlI

fng. [B] Only 1L

How many rational numbers are there between 1 and
1000 ?

1 3R 1000#%%%8@1@%?
(a) 998 (b) 999 (c) 1000 (d) Infinite
hrs, ([B]) TSR

RAKESH YADAV READERS PUBLICATIONS P\}T. LTD




14. If x is positive even integer and y is odd negative inte
ger, then xVis:

afE x TH T F e iR y fow sEuTeTE o €,
@ x ®?

(a) Odd integer/ fawd guiis

(b) Even integer/S® qUlish

(c) Rational numbér/‘qﬁﬁﬂ &

(d) Irrational number/ STafea H&AT

c - +ve even integer Let x = 2
la——% —ve odd |'n-\-63e“r . Ld'y'—" -1
syt et sl [ HI

24 | 2

Ans. — (€] Ratonal Number
15. If m and n are natural number, then =/, is.
I m 3R n WHRE G R A € 2

(a) Always irrational/Sed 4™

(b) Irrational unless n is the m™ power of an integer/
STqfE <@ 9 n fHE! qUiieR 1 mai = el &l

(c) Irrational unless m is the n™ power if an integer/

STufia <@ % m THdl quiish 1 ndl = el g
Ans. — (B]

16. If nisa natural number then Jn is/Af n TH Yrehideh
e, @ Jn
(a) Always a natural number/?ﬁa T Whfddh ge&
(b) Always a rational number/?ﬁa T 9fET e
(c) Always an irrational number/lﬁa Teh 3RTT §&Al
(d) Either a natural number or an irrational number/QFﬁ k|

FE THhiE e A ST T
fins—[(D] Either a natural number or
an frmb'Oﬂai huwmber.

17. The product of a rational number and an irrational number
s/t G e TR HE I BN ¢l
(a) A natural number/T% Ui &
(b) An irrational number/T& 3TARHA HEAT
(c) A composite number/Tsh 3THA e
(d) A rational number/T& RHT FEA
(e) Either rational or irrational number/a1 qr gfea &

ufEa

RAKESH YADAV READERS PUBLICATIONS PVT. LTD

,5,%@_ (Iw—rajﬂ'o n 01’)

Ans.= 5X Jn
3
(Rai'l‘or\ai NU)

I -OT xJSiui=r 0
Pns. [E] Either rabonal or irrational no.
18. Which of the followingis a irrational number?/frfeeEd
¥ § -9 T TR W@ 22

231
(a) V59049 (P) Fg3

(d) 0.12112211122211112222...
=8By e,\.?m?na;h‘na option (D] Ans.

(c) 0.45454545

19. The pair of rational numbers that lies between —an

is./%ﬁﬂgéaﬁavﬁﬁaﬁ@rwﬁaﬁq—w 22

262 752 o2 72
(@) 7600°1000 (b) 750’100
252 748 252 748
(¢} T000°1000 ) 100’1000
> _\ x250 3 x250
4 x250 Y 250
250 35°

=)

—-—-—-d-—-——’
| 000 \oooO

T between

(_Muj,’n'Plg by 9250 +o COmPQYC
with optien (@) 202

Ars. [¢] —» 252, 48
1000 1000

20. Consider the following statements/fAfafaa S2ET W

formmR X2

1. Every composite number is a natural number/9sh
T W& T WEHfaE e Bl ¢l

Il Every whole number is a natural number/¥& qoi
TET T WEHGE Ge B

Which of the statements given above is/are/ST® A

¥ § FH-G G 77

(a) Only 1 (b) Only Il
(c) Both land Il (d) Neither | norll
Ans. [A] Onlyl



Fo8q .
ERSEN DR Ky (5paTy!
Q?*: e =\ Br3+4%8
w3 oy D =R = 5
B > A

B.8l=1g

33. If a 9-digit number 785x3678y is divisible by 72, then
find the value of (x + y) 23R TH 9-3fw HEAT
785x3678y, 72 Q faug &, @ WM @ HIWT (x +y) ?

(a) 20 (b) 12 (c) 10 (d) 5
F85T3678Y .;14;3;
. 1Y Fox 9:
Fox 8 :» 3 $ 38Sx3678Y
AN, 3+ =ofalip
YD) U
g
= [g= = () = s
€ = [0 Ahd
8x

34. \f 8-digit number 5324a52b is divisible by 9 and 5 then
find the sum of all possible values of a?}qﬁ 8—3h

TET 5324a52b, 9 3R 5 | 99T € df a g Gefod
HET T IR [1G HITeT?

(a) 6 (b) 11 (c)7 (d) 4
532uq5sIb
Fo¥ 53 533uqs0, FO¥S:7 53UqSE
LA e RS
\8—=<;/ q+8
Fox9:> 53349 530 g=1
~————" max- pessible valué of
349 | A - (6.1)
9=6 6+1 =7 ans

Level — 6

35. |f'a'is natural number, then (7a% + 7a) is always divis-

ible by AT 'a' T WFd WEA T, (7a% +7a) T FHRM

fasfora 2 2:
(a) 7 and 14 both (b) 7 only
(c) 14 only (d) 21 only

C Fal+70) * Fxqx(+)
Q=4 = Fx3=Iy—~divisible by 7 g 1y

A= = Fr2%3= 42 — djy/sible by .1y

Option (R) — 7 and 1y hoth

36. The sum of 3-digit numbers abc, bca and cab is always
divisible by :/3-371a T&ASH &1 A abc, bea 3R cab

T faaRe i B

(a) 35 (b) 41 (c)37 (d) 31
AbC = 1009 + 16b+6
hGQ = [00b ~+ 10C +9
Cab = fooc + 109 +b

111q + 1l +1C
2> m{a+b+c)

/N

3+ 3%

OPtion(c) =373 No-R3IT 37 D 7791 7|

37. A 4-digit number x92x is divisible by 36 and a 7-digit

number y569z04 is divisible by 11. For the maximum
value of (x + z), what is the value of (2x +y +2) ?

T 4-3FE T x92x, 36 ¥ faUsa ® R
7-SH TEAT y569204, 11 ¥ fa9%9 21 (x+2) &
IR WH & AT, (2x+y +2) H1 GE 1 €2
(a) 31 (b) 228 ()33 (d) 26
%9 X
u
FO¥9:5 +2x=3)1827
Q+JR2=]g

2CS80)
# Y569 z0Yy
(61Yy+2iy) -(9+5) = alif22
(10+Y+2) =14 = ol
Y+2-4 =0l
==l |

l., b
| Sv—
B' +‘% 315
Q- We can toXe max. Value of Z is=Q,
Z=0,
.h\‘.
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% x+92 — Max Valye
919
2 (x+ +z)

2 (%8+)5) 2 31 Ahs

38. How many 5-digit numbers of the from XXYXX is/are
divisible by 44 ?/XXYXX ®q @I farat 5-siata g@&

44 ¥ fawa ?2
(a) 1 (b) 3 (c) 2 (d) Infinite
AXYXX
]
0% E RN
' ox i3 X ¥
%sz \/g\x/x
X - —
33 (x+y) egr_:-gln
W Pose
Sox  Possible Yalue - 4youy
88 88088
99* R pessible Valye
x=48 ’

39. If the sum of the digits of any integer lying between
100 and 1000 is subtracted from the number, the result

always is:/afZ 100 3R 1000 & &9 % fFdt QUi &

ST &7 AT, TN ¥ A S dl grRend §ed g gl

(a) divisible by 6
(c) divisible by 9

(b) divisible by 2
(d) divisible by 5
betweeh loo and 1000
ol to 999
AYyz
Cloox +10y+2z) - (X+y+2Z)

99x - 9y
a(n=c-y)
option (o) Always divisible by 9

Level -7

40. The smallest number of five digits exactly divisible

by 476./5 3t®1 F1 BRI W B T T FL S 476 §
faenfsa =11

(a) 47600  (b)10000  (c)10476  (d)10472

RAKESH YADAV READERS PUBLICATIONS PVT. LTD

16000
Li76

76 ) t0ooo(

g5

H g0

b6
L(R)

¢ N-R =[] exaclly divisible by @

o N+(2-R)= [] exqctly divisible by

— 10006 - 4= 9996 ( €xactly divisible by 17¢)
N+ (p-R)

10:000 +473 = 10,433 fexacty divisible by t76)

= la,43Ahs,
o
u¥é

4y x 13 x 3 — Check tndividual,
divisiblity o aliminailcoOptions

qj bl cf d|

bFs00  toyze 10.000 17?2
o L~ Hr— Hi—
F—- ER FR T

fFL—

= Option (T) -164%Q smaljest 5 drgi!
No- which s drvisible b Yy 47,600 .

41. What is the least number of 5 digits is divisible by 417

5 37! F1 g€ JAqH Tl €, S 41 ¥ e 2
(a)10045  (b)10004  (c)10041  (d)41000

41 ) 10000 (
8

|BO
164

160
123

37 (1)
(D-R)+N = (41-3%) +10.000

= 1000y Aus




